ARDUINO PROJECT

B




2HNE X2 'AEOL X ICI|E oA
‘Rubber Cannon : 12 = X' J|EE
JLOHSHAl DLy 222 E2|7|

215101 MZ A SLICE

xt2 0| LIS AgstAls B0l w2t
RN KHO|PHe 4 QUCHs

S olHbErLCt,

Z2ISotA| 4 BEZLICH It T k2 A[2E LHO
EBEE = UEESHFSLICE
ST\ 22I0S
&Y o=

https://codingpeople.co.kr

@ =3us ©

LR MY 20 W 1 QK M > D AM > 20}

 OhEolieol T E8 ol FReHiA? "

23 YouTube m%

IYME

[ =]

|OIOIE| & HHX MEXLEA|-H|HE] 2.0
CH$HaI ato|MA



CONTENTS

o
2
o

| Step 1. MDF &2 | MHDE{ A

0
I
3
oo

| Step 2. 3|2 1

I Step3. 3

ol

| Step 4. HIAE

I Step5. 2t 2% 12 W 1



Al of2lle] FefAretS =X[5Ho]

=

ZIEAEH

£|AlZ HEELIC




|

Y U MEHE 2

£]

-
O
o

Step1. MDF &

05



02

03

MDF 2% 1, 2, 3#1t MERE|, EE L{EE FH|EL|C},

MDF 29 1, 2, 3
SGI0 MBI E
M3 x8 BE — 270
M3 x 30 BE — Ui

M3 WE — U

11 M3 EEE L&t Zo{FAM|8.

Step 1. MDF 2% =&l 8! MEZE| 2% | 06



04

05| MDF ¥ 2, 3tHoj| M2 E|S of2{2] o|n|x|et 20| ZelsH FAM|1.

07 | Step1. MDF 2% =& 9 MEZE A



MEDE|Q Z2EHEl MDF 2% 2, 3t

o

M3x8 ZEE 175 FM K.

ok

MDF =¥ 183t 2® 213 of2fi2] o|o|x|ef Zo] ZEls FMI.(MEZE] 4

0

Step 1. MDF 2% =&| 5! ME2E| 2% | 08



08| MEZE| o) =

09

09

Step1. MDF 2% X2 9! MERE HE

MDF 2% 4 ~ g
SGI90 AB 2 E
ABEH T @3F). BE
M3 x 8 BE — 20
M3 x 12 BE — U

M3 UE — Ul



10| MDF 2§ 4t J1HHo|| A{E B E

10

=

S MEDEH

2l gl
=]

Step 1. MDF 2& =



S

3

oF

F2|)

0

MDF 58, 61} MEREE ATl FHQ. (MEZE B

11 | Stepl.MDF 2% X2 Y MERE A



14| MDF 23 5HH HPZZ0j|A M3 x 12 SE 91, Of2lie} Zo| LHEE ATt siM|2.

15| MDF 2¢ 8tHS ofzljet 20| Z&dtx

Step 1. MDF 2% X2 W MERE{ A% | 12



16| MDF 23 ot

17| MDF B¢ 7Hoj = M3x12 EE2} L{EE of2[j2} 20| el =M.

13 | Step1.MDF 2% = 3 MEHRE Hgt



14

0

Step 1. MDF 28 =& Sl MERH



S

20| MDF 238 10 ~ 18H1} MHBE, MEQRE & 2E L{EE ZH|8{ =M Q.

MDF 2% 10 ~ 181
SGI0 HE R E
NERE Z — 278 (19l 28l
M3 x6 BE — 24
M3 x8 BE — 27

M3 x 12 BE — 50

M3 YE — 194

21| MDF 2% 13 30| NEZE| £2 90 HE BEZ SO DH| FHR.

15 | Step1. MDF 2% =& 3! MEDE 2%



S

22

MDF 23 11, 12HHS AMEDE{Q} Of2Q} 20| ksl =M|Q.

23

AMEDEQ AEE MDF 2 11, 12H2 M3 x8 2EE2 11 L|LC}.

Step 1. MDF 2% =& 8! MEZE| 2% | 16



24| MDF 2% 162 & 17t 1Hoj| ot 2sts| FL|C}.

25| Z&E MDF 28 16, 1742

=<

3 x 6 2EEZ ofzfie} Zro| mH™sH SL|c}.

17 | Step1. MDF 23 = Y MERE At



off FMIL.

1=
2

of2liet 20|

=
ES

26| MDF 28 15H0j| M3 x 12 2E2} L

18

0

Step 1. MDF 28 =& Sl MERH



28| O|HHojl= MDF 2% 15tHo| HPZZ0jM M3 x 12 EE '240{ L{EQ} At shL|C}.

29| MEZE{7} IHEI MDF 28 11t} of2je} 2to| Ziststn NS SL|C}.

19 | Step1.MDF 2% = 3 MEHRE Hgt



30| MDF 3% 13#3ts 2t2 o= H3t & sy FLICH (BEwst xo))

Step 1. MDF 2% %! 8! MEZE| 2% | 20



32| MDF2& 10HE &

Step1. MDF 2%

21



MDF B3 180 CHist MEDE 32 2E2 1

|

[«]

i SLIct.

8|2 A M MDF 28 X2 ol M5 EE| 23t of7|ItX| YLict

Step 1. MDF &

& xal

Y MEREH



23

01

02| OIFO|l 2L HEOof M

Step2. 3|2 1

=}
2!

ANALOG IN

- _

=
=
[=]
O
=
i
=
il

POWER  ANALOG IN @
5V GNDVIN AOATA2A3A4A5

=
a o
>
o= m

SD 4[* * » = = =] URFOI + = = = *]

OO0l Qb HE
MM £E V5.0



03

22 9|, Ol 2 MojE MEDES MA 2 20| CIX|Y 8tHoj| 2ot Z4|K.

| =-—

gt Aof
ME2E

O

ESTRINETIRN
HE 5

B BB

AREFGND1312 11109 8 76 54 10

3 2
ArdumoSensor Shield V5.0 =
+

RESET TXRX -

V com[ - - « -]
S SCLSDA- + o
AOATA2A3A4A5 iic[= = = =| &

SEL I:| PWR

Bluetooth

a
<

o POWER  ANALOG IN ®
m__:_';\.l" GNDVIN ADA1A2A3A4A5

D#===---] ugro1 4= - - -]

OIS0l R HE
MM €E V5.0

Step 2. 3|2= 1

24



04| B¥2 3t 92 RO MEDEIS A 25 HEO| CIXIY 70| 20} FN|L.

st A|of 212 2|0
MERE ME 2 E]

(A AL RN R O eseOBeR

|

G Al 4
V vV

S &7

AREFGND1312 111098 7 6 54
Arduino Sensor Shield
RESET G e
v |c0M[:::::]
S SCLSDA - + 3
AOATAZA3AZAS nc[- - - -] §
b

SEL PWR

Bluetooth

POWER  ANALOG IN ®
5V GNDVIN AOA1AZA3A4AS5

[esssas]

m
=
m

SD #[= = = = = =] URFOT #[= = = -]

O}50| Q& BE
M 212 V5.0

25 | Step2.3|2:= 7



05

e

£ EAS HOE MERE S MM 2P 2 =] CIX|H 6%H0j| 20 FN.

Are} o] 212 A|0f 2 A0

RET-1 M 2ES ME2E]

A XX N X R ]

(@)

AREFGND1312 11109 8 6
Arduino Sensor Shleld V5.0
G

RESET TERE: ok

SCL SDA - +

v COM
1 AODATAZA3AAAS IiC

Bluetooth

OWER  ANALOG IN @
GNDVIN AOA1A2A3A4AS

SD +[- - - - - -] urrFor - - - -]

OI50| QL& HE
MM 2 V5.0

Step 2. 3|2= 1

26



06| ZO|AEI BEQ|(+), (-) MY

Arst 0] 242 (0] 4EAL 2|0f
HE2E M= 2E ME B E

O

*sePeed

eI EY
v| :
AREFGND'1312 11109 8 7654

Arduino !lensor d>niela vs.u
alls aln all

TY BY - +

SCLSDA- +

com|
AOATAZA3AGAS IiC

j=a=nmiaiy

Bluetooth

-
Y » POWER  ANALOG IN '@
& @5V GNDVIN AOA1A2A3A4AS

SD +[" * ** =] URFOR + = = = -]

Ol 0|\ R HE ZO|AE!
MM gE V5.0

27 | Step2.32= 1d



S

07

2
i=]
|>
Jm
Ha
Mn
10
_><

<

Hi
rx
ok
rx
mjo
K=
ml’

P27 A1, AO Tof| ZolFAM|L.

b5t 3[0f 212 20f 2L Hl0f
HERE ME2E ME2E

(I XX N R Y]

(@)

OB Sooom oo |
V‘ V| [
5 S
AREFGND1312 111098 7 6 54 3 2 10
Arduino ! ensor snieia vbu r-]
|
1

RESET G
v e ne wlleople o o a
S ! | €

TY DY - +

el B
icha. + - =

(e n
AOATA2A3A4AS IiC g g

PWR
se [ ] POWER
5V GNDVIN AOA1A2A3A4AS

ANALOG IN @

sD #[* == == | URFO1 #[= = = -]

O}l Qe HE ZO|AE
MM 2E V5.0

Step2. 3|2E 14 | 28



29

08

ZO|AE] BEO| HE NS MG A B 215 CIX|Y 5HO| ZOIFAIL.

45t 2| of 212 A|0f
MERE MEZE

esvsses | |

ZAL 0]
MERE

O

(AL LN RN

o ok lon
v

-

AREFGND1312 1110 9 8 3 £
ArdUInOfensor >niela v v
RESET G TY DY - & |

Vv === = lecoml -
g|- | | |

Crl ChA - 1

AOATAZA3AZAS N[ = = -]
|
SEL PWR

POWER  ANALOG IN @
5V GNDVIN AOA1A2A3A4A5

m
=
o

SD #[* = = = = =] URFO1 #L= * - -]

OtFO|l Q1= HE
MM 42 V5.0

Step2. 3|2 1




09| AAx4HHE{R EC{E WA 23 dC Hal Thxto (A FLCt.

st 2| of Z12 AH|of BFAL A0
MERE MERE MEE]

ceesces (Joconone

AAx4 HHE{2] ZCf
1.5V AA H{E{2| x 4

G

v VI |

s S Is| |
AREFGND1312 11109 8 76 5a 321U

Arduino ! ensor snieia Vou
RESET G TY DY - 4+

v lcan |
S

I erena. o

AODATAZA3A4AS IIC
¥
E
SEL I PWR

Bluetf( th

=
# o POWER  ANALOG IN °
& RSV GNDVIN AOA1AZA3A4AS

o LW |

= [ |
o

<

fal

SD + URFO1 +

Ol 0| 4 HE ZO|AEl
MM €E V5.0

Step 2. 3|2= 1

30



AR 3|2 = 24 o]O|x|

31 | Step2. 3|2 74



01

02

OtF0|= SENLEH(IDE) 2XIF IsHM & H2l20|A arduino.cc 2

& =AML,

o 0o 0o o B 6

Google

Q  Google Z4 =& URL 213

gaszo e 5

SOFTWARE 0|+0ilx{ DOWNLOADS

i
muju

Ju
OF

i =ML,

N, e MDD CeSOMMTE

BUY AN ARDUINO. w
LEARN ARDUINO ]
&

The Arduing* Student Kit:
bring the buzz hame

ARDUINOLIDAY

CALENDAR

Open a new window ==
every day, you'll get

special surprises =1
throughout

December! D

Discover today's surprise

New Portenta
Vision Shield

Create, conn
with Opla loT

Order now!

Step 3.3

32



03

rir

IDE AX| o} 2 CI2RZES17| IsH AF25HA
(Windows 10 AR A] AX| G|A])

= ZHINI(0S)E MEsl M| K.

B Saftware | Ao x4

3 G @ ardunoccienjsoftware

PROFESSIONAL | EDuCATION | sToRE

o) ARowARE

Arduine Web Editar

Start codling onling and saus your sketches in the cloud. The most
of the IDE includes a1 kixaries and aiso.
ards.

Downloads

Arduino IDE 1.8.13

The open-source Arduino Software (IDE) makes it easy to write code
and upload it to the board. This software can be used with any
Arduina board,

Refer to the Getting Started page for Installation instructions. e
SOURCE CODE Mac O X 1050
Active development of the Arduino software is hosted by GitHub. [

See the instructions for building the code. Latest release saurce
code archives are available here. The archives are PGP-signed so
they can be verified using this gpg key.

DOCUMENTATION =  COMMUNITY ~  BLOG  ABOUT

s N

=2 7 04 22

Hourly Builds

Download a preview of the incoming rel

s
with the most updated features and bugfixes

Beta Builds

Arduine IDE with experimental features, This
version should NOT be used in production.

04

33

DOWNLOAD OPTIONS DOWNLOAD OFTIONS

it rdownicads anduing ce/ardung-1 £13-windows eve

3 G @ arduinaccien/danste/

PROFESSIONAL | EDucATION | sTORE

o0 NARDWARE  SOFTWARE =  DOCUMINTATION =  COMMUMITY = 810G ABOUT

Support the Arduino IDE

since its first release in March 2015, the Arduino IDE has been
downloaded 47,956,220 times — impressivel Help its development
with a donation.

$3 $5 $10 $25 $50 Other

a E I JUST DOWNLOAD CONTRIBUTE & DOWNLOAD

= Y

(5.0]

Learm mare about dansting to Arduine.

ARDUINO*

NEWSLETTER

_ e

Step 3. 24

s N

FoLLOW US




05| T (MEEE] A5 Y BiS, B4 MO, setup() 2<)

Rubber_cannon | OHp0jk 1813
2% 20 2An & =&Y

$include <Servo.h>

Servo servo[3]); //MERE A M4

/INBRE MSH (FEM) 6F Tl HS

int pin(3) = (8, 7, 6}; //8 &dl, 7 X, 6 YA
/TNBRE =I| 2%

int initAngle(3] = (80, 95, 20};

//NERE 243 g Mo

int idle[3], currentAngle[3];

/72 BA-ZTR(175~15), 246l(120~60), WA (20~170)
int MAX([3) = {120, 175, 170}, MIN(3] = {60, 15, 20};

//ZEO|AE 242 Hlig N i Mol
int value(3), ANA[2] = {Al, A0} ;
int btn = 5;

void setup() {

//NSERE T A3 9 2} Ug =J|%}

for(int i=0; i<3; i++){
servo([i] .attach(pin([i]);
servo[i].write(initAngle[i]);
value[i] = 0;
idle[i] = 0;

}

//ZO0|AY HIE W 2E 8 T8}

pinMode (btn, INPUT);

digitalWrite (btn, HIGH);

Step3.3Y | 34



35 | Step3.3d

06| IE=

void loop() {
delay(30);
int btnValue = digitalRead(btn); //HE 3t 27|
for (int i = 0; i < 2; i++){
value[i] = analogRead(ANA[i]); //ZO|AE = 32t 27|
/IMERE B 2E QA0lAM K &s)

currentAngle[i] = servo[i].read();

/7%, y &2 ZTOIAE 210l 612 040122
if (valuel[i] > 612) {
idle(i] = 0;
/72 MEREQ] MEE Z0igtECt RCHH2
if (currentAngle[i] < MAX[i]){
//AE +1
++currentAngle(i] ;
}
/MY REDL AAE AERI otL|ets 2
if (!servo[i].attached()){
J/IMSSE T 45
servo([i].attach(pin[i]);
}
/TNRZE 2T 43
servo[i] .write (currentAngle([i]);
else if (value[i] < 412) {
idle(i] = 0;
if (currentAngle[i] > MIN([i]){
--currentAngle([i];
}
if (!servo[i].attached()){
servo([i] .attach(pin[i]):
}
servo([i].write (currentAngle(i]);
else {
//ZEOAEE SESIA D ACHH idle WY +1
++idle(i);
}
if (idle([i] > 100){
//NEREE AFAIZE AIS6IA CH HEE 37|
servo([i].detach();
idle[i] = 0;
}
}
//ZEOAE HIEE =32 A2
if (btnValue == LOW) {
servo[2] .write (MAX[2]):
for(int i=MAX[2]),; i>=MIN[2]; i--){
servo (2] .write(i);
delay (5);




* ALMIT|O|X| %4 31

<MHERE ZtE X7|3} §! ZO0|AE] F tHetal HE X0 HE MERE] 2t 3} 201>

¥ SNAE 72p7) J2EFF 2T Ex}5ha oickod)

[Step2. S|2= 1] 3t [Step 3. L] BHES
CIA| 2H0lsto] ~dotA| A HEEL|CE.

Step 4. HIAE | 36



HEHOlIM 2

o| MERE{I} X7|g}=l

E

e
O
o

L)

oj

El =

AL MEDE{Q} MERD

37



g

£l MERE{0]| LY

f

24 X[

HA M3 x 12

-~
(o]

BRYES

<+




=l ME 2 E{0]

}

T X

2t
~

39






Memo

41 [ Hoppy]



CODING PEOPLE
ARDUINO PROJECT
NS CHE US|




	슬라이드 번호 1
	슬라이드 번호 2
	슬라이드 번호 3
	슬라이드 번호 4
	슬라이드 번호 5
	슬라이드 번호 6
	슬라이드 번호 7
	슬라이드 번호 8
	슬라이드 번호 9
	슬라이드 번호 10
	슬라이드 번호 11
	슬라이드 번호 12
	슬라이드 번호 13
	슬라이드 번호 14
	슬라이드 번호 15
	슬라이드 번호 16
	슬라이드 번호 17
	슬라이드 번호 18
	슬라이드 번호 19
	슬라이드 번호 20
	슬라이드 번호 21
	슬라이드 번호 22
	슬라이드 번호 23
	슬라이드 번호 24
	슬라이드 번호 25
	슬라이드 번호 26
	슬라이드 번호 27
	슬라이드 번호 28
	슬라이드 번호 29
	슬라이드 번호 30
	슬라이드 번호 31
	슬라이드 번호 32
	슬라이드 번호 33
	슬라이드 번호 34
	슬라이드 번호 35
	슬라이드 번호 36
	슬라이드 번호 37
	슬라이드 번호 38
	슬라이드 번호 39
	슬라이드 번호 40
	슬라이드 번호 41
	슬라이드 번호 42

